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% g R - KSR Bifr B 2 B i & B W =
BRI 13,447,990 + 373,074 13,821,064
BEEAGE 13, 447,990
BE#RE 373,074
T DR 13,447,990 x 53.85% ( 35% + (1 — 35%) ) 7,241,742
RHRIE 13,821,064 + 7,241,742 21,062, 806
—REEES 21,062,806 x 53.85% ( 35% + (1 — 35%) ) — 5127 11,337,194
KBS 21,062,806 + 11,337,194 32, 400, 000
HETREALE 32,400,000 x 10.00% 3, 240, 000
EBEREN 32,400,000 + 3,240, 000 35, 640, 000
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B[R 13, 821, 064

ERBIZHEITIEREE T AFERTERS 13, 821, 064

ERBIZHEITIEREE T AFERTERS 13, 821, 064

ERBIZHEITIEREE T AFERTES 13, 447, 990
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1 FHE#EE .00 415, 450 415, 450
=

AT LBRBAHOEH 8, 988, 590

2 BRUNE - 7 2.00 259, 250 518, 500
EH

3 HEIBRDM\BIEAREDEE .00 1, 249, 000 1,249, 000
=

4 BRERT—EN—ADELH 3.00 667,180 2,001, 540
EH

5 MR fERE DT .00 745, 650 745, 650
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6 PrRIEDREMEEREEDEM .00 4,225, 350 4,225, 350
=

T RIEGLH A HEEED BN .00 248, 550 248, 550
=

AT LREER 2,104, 900

8 B - BRHED IR T LK .00 248, 550 248, 550
EH

9 ZHOFZTE .00 212, 200 212, 200
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10 TR RSV DERE 3.00 118, 400 355, 200
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11 TR S UHERD®RE 3.00 321, 450 964, 350
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12 AR =17 I)LOEE .00 324, 600 324, 600
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13 W=D 2.00 198, 300 396, 600
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14 RESEMOERK 2.00 275, 300 550, 600
[l

e - WS 540, 500

15 EaTiHE 1.00 117, 400 117, 400
[l

16 HREHRE 2.00 117, 400 234, 800
[l

17 &HR|E 1.00 188, 300 188, 300
[l

BEH 451, 350

18 KBTS 1.00 451, 350 451, 350
=

EERE 373,074

EHRARE 129,074

19 EBRARE 1.00 129,074 129,074
=

MR 160, 000

20 XBHERE 1.00 160, 000 160, 000
=
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21 ETHREE 1.00 84,000 84,000
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A 1.50 62, 200. 00 93, 300
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A 2.50 55, 200. 00 138, 000
HEm (B)
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A 2.00 45, 300. 00 90, 600
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A 1.50 35, 600. 00 53, 400
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